
Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.

Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.

Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.

Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.

Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.

Move to the tub 
of the vehicle. 
Remove the rubber 
plugs closest to the 
cabin in the tracks 
on either side of 
the tub.

Issue: 01 		 Document No: R577	 Prepared: Kayle Everett

1.
Item Component Name Qty Part No.

1 M6 Nut with Foam 8 N018

2 Instructions 1 R577

QMFK01

With the plugs removed, 
slide four M6 nuts in 
both sides, foam side 
down.

1

2

x4

3

Fit the RLT600 Leg 
Kit as shown in  
their instructions. 
QMHD05 must be 
purchased to fit 
Heavy Duty Bars.

QMDHD05 
Fit Kit.


